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10 ©] 42, 1 ©] 53, 0.1 ©] 14, 0.01 ©] 26, 0.001 ©] 37 21 &

[
| —

>
[> ®Eehl 474.697

420+ 53 + 1.4 4 0.26 + 0.037 = 474.697
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10] 3,0.001°0] 791 $=HET} 31, 3.05 2T 22 A% A Ze] &= F
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b 3.008
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7 2 A4 A A 4 03.05 Bk 0.001 22 4 — 3.049
VAL A% A A 4= 1 3.007 E} 0.001 2 5 — 3.008
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(1) 02-0.1 (2)08-0.6

@) 012 02 @ (1) 0.1 (2) 1.5
® (1) 0.3 (2) 0.15 @ (1)0.3(2) 0.3
® (1)0.3(2) 1.5

(1) 0.2-0.1=0.1
(2) 0.8-0.6 =02
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Folo] # £z 4200 g ol AL, &3]0 H FA= 1kg 600g YU F
Arrel g Agoll &8 oW 0.1kgAe] A-go] 2 7H o] ZEA

TSHA 2.

v
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40] 1 4200g = 4.2kg

235 . 1kg600g = 1.6kg

4.2+ 1.6 = 5.8(kg)

gt 7+o] 0.1kg©]™H 5.8 kg-S 587Fo] 2] ofof gt




22,

o ah A &

=
o

AN 7

1

— o] 159 & =0.1
Top 1 198 7 =015

0.03<[ ]<0.15

7124014, 7P A2 5 0.04

(F %9 )= 0.14+0.04 = 0.18




23. b= 259 sAS A2 vEA AT AL 2L,

(1) 0.43 +0.79 (2) 0.57 + 0.64

@ (1) 1.11 (2) 1.21 @ (1) 112 (2) 1.22
® (1) 1.21 (2) 1.22 @ (1) 1.22 (2) 1.23
@(1) 1.22 (2) 1.21

(1) 0.43 +0.79 = 1.22
(2) 0.57 + 0.64 = 1.21
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850 + 590 = 1440( m)
webA] 1km = 1000 m ©]| 22
1440m = 1.44 km ©|t},
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@ 1.54+28=182
@)151+25=134

® 1.54+28 =434
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@ 1.54+28=182

@ 1.54+2.8 =334
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12-55=6.5
6.5 —1.821 = 4.679




27. 10L=°] 59

4 rir

10 - 7.26 = 2.74(L)

9530 mL — 9.53L

12.4-9.53 = 2.87(L)

(9 a3t E9] &F)=2.74 + 2.87 = 5.61(L)




